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“Work done”

  فتسببجسمعلىالمسلطةالقوةوهو الشغل
 
:بالمعادلةويعرفمعينةلمسافةحركتهف

đw = Fdl (7-2)

where F = force, and l = length of bath (shift).

the work required to move an object a distance dl against an opposing force of magnitude F.

 وبما 
 
 لذا مساحةوحدةلكلالقوةهو الضغطإن

 
فإن

p = F/A (9-2)

وحيث،Aالسطحيةالمساحةذوالمكبسلحركةالمعاكسوpexالثابتالخارجيالضغطمنهوالقوةمصدرأن(2-9)المعادلةتخبرنا

.التاليالشكلفيوكماpexضدpinالداخليالضغطقبلمنالمنجزالتمددشغلبفعلتحركقدالمكبسإنّ 



Because đw = − 𝒑𝒆𝒙 (Adl) where Adl = dV (2-10)

Then đw = − 𝒑𝒆𝒙 dV (2-11)
التال  بالشكلتصبح(11-2)للمعادلةالتكاملأخذ عند 

𝒘𝒓𝒆𝒗 = − 𝒑𝒆𝒙 𝑽𝒊׬
𝑽𝒇 𝒅𝑽 small changes in 𝑽𝒊𝒏 & 𝒑𝒊𝒏 (2-12)

  الشغللحساب)2-12(المعادلةتستخدم
 
اتتكونعندما الغاز منواحد مولقبلمنوالمنجز العكسيةالعمليةف ةالتغير  جصغير

 
  دا
 
ف

  وكما النظامحجم
 
.)2-2(الشكلف

Figure 2.2: Expansion work has been done as a result of moving 
the piston against the Pex.

سالمكبفإنأخرىومرةالتوازن،حالةالىيصلأنالىطفيفبشكلالحجميزدادوبذلكpinمنبقليلأقلتكونpexفإنالعكسيةالعمليةفيالحجمزيادةعند

يمثلوالذيللنظامالنهائيالشغلعلىنحصلأنالىالعمليةهذهتستمر.التوازنحالةالىيصلأنالىpexعلىpinتغلببسببجداصغيرةبمسافةيتحرك

Wmaxفإنّ وبذلكالعكسيةالعمليةفيخطوةلكل(Σwrev)الشغلمجموع at pgas or pin = pex.



المتولدّمنّالغازّلاّمنّالضغطّالخارجيّالثابتpinّوبماّإنناّنهتمّبالنظامّاكثرّمنّالمحيط،ّعليهّيتوجبّحسابّالشغلّالمنجزّمنّخلالّالضغطّالداخليّ

pexّ pexوفيّالعمليةّالعكسيةّفإن  = pin.

𝒑𝒊𝒏 =
𝒏𝑹𝑻

𝑽𝒊𝒏
equation for ideal gas                                               (1-5)

.)2-13(المعادلةعلىنحصل)12-2(بالمعادلة)5-1(المعادلةتعويضعند 

𝒘𝒓𝒆𝒗 = −න
𝑽𝒊

𝑽𝒇 𝒏𝑹𝑻𝒅𝑽

𝑽𝒊𝒏
(𝒘𝒉𝒆𝒓𝒆 𝒑𝒊𝒏 =

𝒏𝑹𝑻

𝑽𝒊𝒏
𝒂𝒏𝒅 𝒑𝒊𝒏 = 𝒑𝒆𝒙)

(2-13)

 وبما 
 
)2-14(المعادلةعلىنحصل.)2-13(للمعادلةالتكاملوبأخذ التكامل،خارجتكونعليهثابتةRوTوnقيمإن

𝒘𝒓𝒆𝒗 = − 𝒏𝑹𝑻 𝐥𝐧
𝑽𝒇

𝑽𝒊
(2-14)

.(ليالداخالضغط)المثاليالغازقبلمنوالمنجزالعكسيةالعمليةفيالتمددشغللحساب(2-41)المعادلةتستخدم



Work done (irreversible process)

اتتكونعندما أما  ةالتغير   كبير
 
  موضحوكما )2-15(المعادلةمنيحسبالمنجز الشغلفإنثابتالخارج   والضغطالنظامحجمف

 
.)2-3(الشكلف

wirrev = − 𝒑𝒆𝒙 ∆𝑽 where pex is constant (2-15)

Figure 2.3: The work done by a gas when it expands against a constant pex is equal to the shaded area in this example of an indicator diagram.



  فهذا سالبةwقيمةتكونعندما 
إنأيموجبةالقيمةتكونعندما العكسوعلىالمحيطعلىالنظامقبلمنأنجز قد الشغلانيعن 

Won =  ̶ Wby

  تمدد يحصلعندما 
 
+)النظامف ∆V)تمددشغليسمىالمنجز الشغلفإن(Expansion work done)تقلصشغلويسمى

(Compression work done) النظامحجميتقلصعندما( ̶ ∆V)التال  بالمفهومذلكعنالتعبير يمكن:

  ̶ Wby = + ∆V (Vf > Vi), while + Won =  ̶ ∆V (Vf < Vi)



Examples of irreversible work done

Example 1: How much work is required to compress a monoatomic ideal gas at a pressure of 2.5 x 105 Pa from an

initial volume of 0.015 m3 to a final volume of 0.010 m3? What is the change in the internal energy of the system

if the system releases energy of 350 J in this process?

Solution: Pex = 2.5 x 105 Pa, Vi = 0.015 m3, Vf = 0.010 m3 and q = − 350 J

wirrev = − 𝒑𝒆𝒙 ∆𝑽 (2-14)

wirrev = 1250 𝒑𝒂𝒎
𝟑, 𝟏𝒑𝒂 = 𝑵.𝒎−𝟐.𝒎𝟑 ≡ 𝑵.𝒎 = 𝑱

wirrev = − 2.500 x 105 𝒑𝒂 𝟎. 𝟎𝟏𝟎 ̶ 𝟎. 𝟎𝟏𝟓 𝒎𝟑

wirrev = 1250 𝑱

∆𝑼 = 𝒒 + 𝒘 (2-6)

∆𝑼 = −𝟑𝟓𝟎 𝑱 + (𝟏𝟐𝟓𝟎 𝑱)

∆𝑼 = 𝟗𝟎𝟎 𝑱



Example 2: What is the work done in kJ of an ideal gas is allowed to expand from 1 L to 10 L against a

constant external pressure of 1 bar?

Answer: (a) − 9 (b) 10 (c) − 0.9 (d) − 2

Solution: Pex = 1 bar, Vi = 1 L and Vf = 10 L.

wirrev = − 𝒑𝒆𝒙 ∆𝑽 (2-14)

wIrrev = − 1 bar (10  ̶ 1) L

wirrev = − 9 x 100 J = -0.9 kJ so this means option (c) is correct

Note: that 1 bar.L Ξ 100 J why? (Homework 1)

Homework 2: What is the value of pin expected when the volume is expanded or compressed against the

constant external pressure pex (Atmospheric pressure).


